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1. If the roots of the equation 6. If x-= 2% + g‘é, then the value of
X2 +mx+m=0 are in the ratio p:q,

2x3-6x-5is equal to
then

a) O b) 1
P.[a, m (a) (b)
R (€ 2 @ 3
is equal to 7. The sum and difference of two
expressions are 5x2-x-4 and

(@ O (b) 1 2
" 51 3 x“+9x-10 respectively. The HCF of
(c) (@) the two expressions will be
2. If (a) (x+1) (b} (x-1) ,
V3x? -7x-30 - Y2x2 -7x-5=x-5 (c) (3x+7) (d) (2x-3)
has o and B as its roots, then the value 8. If (s-a)+(s—-b)+(s-c)=s, then the "
of of is value of
@ -15 () -5 (s—a)2 +(s-b)2 +(s-c)% +s2
2 2 2
© 0 @ s a“+b“+c
» g . will be
3. If ;+§=m and ;+E=n, then what (@ 3 (b) 1
fc) O (d -1

-
is = equal to?
y 9. If the polynomial

gy 2R (p) M4 x®+ pxS+gxt-x2-x-3
mp+ng R-ig is divisible by (x* - 1), then the value of
(c) L (L (d) L oL p2+q? is
mp —ng - mp+ng
) 3 (@ 1 (b) 9
4, If a ‘—by"C‘ZZO, ax-b“+cz=0 and (C} 10 {d] 13

2
-¢% = the val
ax+by-c 0, then. the: value; of 10. Let p and g be non-zero integers.

2 e Pl o B Consider the polynomial
a+tx b+y c+z A(x)=x%+px+gq
will be It is given that (x - m) and (x - km) are
(a) a+b+c (b) 3 simple factors of A(x), where m is a :
© 1 (@ 0 .non—zero 1nteger' and k is a posm.lve
integer, k = 2. Which one of the following
5. If the equations x%-px+q=0 and is correct?
[ 4
x2+gx-p=0 have a common root, (@ (k+1)2p? =kq
then which one of the following is (b) (k+1)2q=kp?
correct? ) )
(@ p-gq=0 (b p+q-2=0 () k*q=(k+1)p
() p+q-1=0 (d) p-g-1=0 (d) k?p®=(k+1)°q
B-ABPA-P-JRW/54A 2
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. AR THEO 2 +mx+m=0 % YA p:g

P q m
%aﬁqmﬁ%,ﬂ‘r\g+\/%+\/;m%

TR 27

fag O (b) 1

) 2 (d 3
2. Ife

J3x2 —7x-30 - V2x2 -7x-5=x-5
F e o 3R B E, A of FH AW F1R7

(@ -15 (b) -5
() O @ s

3. Ife £+g=m am 2+£=n %, qr i

x Yy X Yy Yy
foree SR &7
np + np +
(@ 210 ) 22T
mp +nq mp —ng
(c) np-=mg @ ™~
mp —nq mp +ng

4. I a’-by-cz=0, ax-b%+cz=0 ¥R
ax+by—cz=0%,?ﬁ

X z
i
a+x b+y c+z

e icic s o
(a) a+b+c (b) 3
(¢ 1 (@ ©

5. 9 Beicau x2—px+q=0 3R
x2+gx—p=0 F Tk IWHE 7@ 2, @
 Frfafaa % @ F9-01 w6 @& 77
(@ p-q=0 () p+q-2=0
(c) p+tq-1=0 (d) p-q-1=0

B-ABPA-P-JRW/54A

6. IR x=23+2"3 ¥, @ 2x3-6x-5 F AW
Terteh SR &7
(@ O ) 1
fc) 2 (d) 3

7. 3 FHL H TS AR TR FAM: 5x2-x -4
A x2+9x-10 Bl J| A TR W
Ho Ho (HCF) 1 87
fa) (x+1) (b) (x-1)
(c) (3x+7) (d) (2x-3)

8. gt (s-a)+(s-b)+(s-¢c)=s%, @

s—a)? +(s-b)2 +(s-¢)2 +s2

a?+b2+c?
T H= Y
(@ 3 (b) 1
c) O d -1

9. uf agw

x8+pxS+qet-x2-x-3

(x4—1) ¥ fawrsw g, @ p2+q2 EARIC

w27
(@) 1 (b) 9
c) 10 (d) 13

10. A9 ®fvm p R ¢ IYP® TE I
EEqEA(x)=x2+px+quﬁﬁ’l'{ﬁf3ﬂIq€
ﬁmw%%(x-—m]aﬁ?(xﬁkm],A(x)%

WA oAES ¥, SE m T W POF €, k
T v It 3R k> 2 ®) FefaRea |
¥ HH-91 TF Hel 87

(@) (k+1)?p? =kgq
(b) (k+1)%q=kp?
(c) k2g=(k+1)p?
(d) k2p?=(k+1)*q

[P.T.O.
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11. Let m be a non-zero integer and n be a
positive integer. Let R be the remainder
obtained on dividing the polynomial
x™ +m™ by (x -m). Then

(a) R is a non-zero even integer
(b) R is odd, if m is odd

() R=s? for some integer s, if n is
even

(d) R=t> for some integer t, if 3

divides n
12. If 4*2Y =128 and 3%*32Y- 9% =, then
the value of x + y can be equal to
(a) 7 (b) 5
{c) 3 (d) 1
13. If the linear factors of ax? — (a2 +1)x+a
are p and g, then p+q is equal to
(@) (x-1)(a+1)
(b) (x+1)(a+1)
() (x-1)(a-1)
(d (x+1)(a-1)

14, If

o Ja+2b+Ja-2b
Ja+2b-Ja-2b

then bx2-ax+b is equal to (given that

b #0)
(@ O (b) 1
(c) ab (d) 2ab

15. If a® =117+b3 and a=3+b, then the
value of a+b is (given that a> 0 and

b>0)
(@ 7 (b) 9
fc) 11 (d) 13

B-ABPA-P-JRW/54A

16. If the sum of the roots of ax?+bx +c=0
is equal to the sum of the squares of
their reciprocals, then which one of the
following relations is correct?

(a) ab?+ bc?=2a%c
(b) ac?+be?=2b2q
(c) ab? + be? = a?c
(d) a?+b%+c2=1

17. Consider the following statements in
respect of the expression

_n(n+1)
2
where n is an integer :

Sp

1. There are exactly two values of
n for which S, = 861

2. S§,=S5 (1) and hence for any
integer m, we have two values of
n for which S, =m.

Which of the above statements is/are
correct?
{(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

18. Consider the following statements in
respect of two different non-zero
integers p and q :

1. For (p+q) to be less than (p-gq),
g must be negative.

2. For(p+q)to be greater than (p - q),
both p and g must be positive.

Which of the above statements is/are
correct?

{a) 1 only

(b) 2 only

() Both 1 and 2
(d} Neither 1 nor 2
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11. 99 T m ™ YRR Wi MM n W
YIHR QU ®1 AW SiNig R, Wg9E

X" +mt B (x-m) ¥ ol TR wam

T § |
(@) R T YRR G4 QU B
(b) R Trm g, aft m fawm 2

(c) WWS%%QR:SZ ?, 3l
nom R

(@ foeh quiss ¢ & fom R=1¢3 %, IRk 3,
nﬁﬁmﬁﬁm%

12. 9f 4%2U =128 X 33%32¥_9®W -0 %, @
X + y 1 WA TR TR 8w 27
(@ 7 (b) 5
c) 3 @ 1

13. IR ax? -(a?+1)x+a % aw TPHES
p AR g%, @ p+ g TFaF TR 77
(@) (x-1)(a+1)
(b) (x+1)(a+1)
c) (x-1)(a-1)
(d (x+1)(a-1)

14. 3
Ja+2b++Ja-2b
x:
Ja+2b-+fa-2b

R, @ bx2-ax +b TFas s g7 (e mn

gfFrp=0.)
(@ O (b) 1
(c) ab (d) 2ab

15. At a3 =117+b3 3R a=3+b ¥, @
a+bH AR 2? (R % a> 03k

b>0.)
(@ 7 (b) 9
(c) 11 (d) 13

B-ABPA-P-JRW/54A

16. 4% ax?+bx+c=0 F Ei’ﬁ H WA, T

gl % ST 6 SIS % e 7, qf Frefafad
Tayl § ¥ FH-91 TF G 27

(a) ab?+ bc?=2a%c
(b) ac?+bc?= 2b%a
(c) ab?+ bc? = a’c

(d) a?+b%+c?=1

17. =w® s, =) S oo e 3, %

2

aR # Trafefad et @ fmm fifsw .

1. n % 3yl @ 7+ §, Fwe fau
S, =861%l

2. Sp=S_(n,1 ® oK 7@ TR Fre o
m%%ﬁ%ﬂ'ﬁw néaam%,ﬁm%
fau s, =m®I

I w1 B A BH-H1/8 wE 2/87

(@) Fad 1

(b) HEA 2

c) 1 3R 2<M

(@ Ad 1WA 2

18. @ faftm TE® WA p 3 g F R #
Frafefaa suEl w foem fifse .

1. (p+q) ¥ (p-g) ¥ ¥4 8 % fau
q T BHT & A1

2. (p+q) ¥ (p-q) ¥ = BW & o
pmqﬁﬂm'&ﬁﬁiﬁml

I YA § W FH-91/8 G B/E7

(@) a1

(b) e 2

(c) 13R2<dM

(d @ 1RAE2

[P.T.O.
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19. 11 2=2_€ inhen which of the following 23. ( sin 35°J2_ [cos 550)2+ 25in30 is oqual
: " K cos 55° sin 35°
is/are correct? s
) b*+c3+dd3 g
" a3+b3+cd a (@) -1
2 a2+b2+02 _a (b) 0
" b2+c?+d? d
(c) 1
Select the correct answer using the code
giVEl’l below. {d) 2
{a) 1 only
- (b) 2 only 24. A cyclist moves non-stop from A to B, a
(c) Both 1 and 2 distance of 14 km, at a certain average

speed. If his average speed reduces by
1 km per hour, he takes 20 minutes
20. 710_510 i¢ divisible - more to cover the same distance. The

original average speed of the cyclist is

(d) Neither 1 nor 2

(@ 5

b) 7 fa) S km/hour
c) 10 (b) 6 km/hour
(d 11

(¢) 7 km/hour
21. Let a two-digit number be k times the

sum of its digits. If the number formed (d) None of the above
by interchanging the digits is m times

the sum of the digits, then th lue of
° ¢ gl cva ° 25. If a sum of money at a certain rate of

s simple interest per year doubles in
(@ 9-k S years and at a different rate of simple
(b) 10-k interest per year becomes three times in
(€ 11-k 12 years, then the difference in the two
rates of simple interest per year is

(d k-1

22. A man walking at 5 km/hour noticed (@) 2%
that a 225 m long train coming in
the opposite direction crossed him in (b) 3%

9 seconds. The speed of the train is
(@) 75 km/hour

fcg 31%
(b) 80 km/hour 3
(c) 85 km/hour
lo
(d) 90 km/hour (d) 43%

B-ABPA-P-JRW/54A 6
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19.aag=é=£%,a‘wﬁq%ﬁaaﬁwm-m/a

20.

c d
e B/er

" b3+cd+d® 4a
’ a

a3+b3+c3

a+b2%+c® ¢

> b2+c2+d2=a

= fou e g2 1 TER W wE IR gAY
(a) wad 1

(b) HaA 2

() 13 2 3H

(d Td1AMAE 2

710 _ 510 forgdy fasrey 27

(@ 5
(b) 7
(c) 10
@ 11

21. M AT 3 37t H TH G A R *

InTeet Y kAT B | AR W % TR B A
# ogem ¥ SN e A R % ANTEA H
m AR, @ m 1 HE FR?

(@ 9-k

(b) 10—k

€ 11-k

d k-1

22. Th et 3 5 foho Ho /Her il =@ ¥ e

@ & faada feem @ ot g 225 Ho @&l
% @S W 9 ke W UR Hd B T
= =t =1 87

(@) 75 Tho o fu
(b) 80 o o fua
(c) 85 fho Mo /aa
(d) 90 Fro Hio/gar

B-ABPA-P-JRW/54A

1 (<] 2 C) 2
23. [sm35) —(‘30555) +2sin30° e

cos 55°
T B 7

sin 35°

(@) -1
(b) O
fc) 1

(d 2

24, T UiEfRd d@w A ¥ BdH 14 o o H

g fomn 5w fifdm ofwa =@ @ @ &
2 AR IEh efma 9w 1 o o ufg Har
+H Bl ®, O 98 36 g W W wA F fog
20 firfe afts & 31 39 Owfera = &
it afad =re = 27

(@) 5 fho Mo /ea
(b) 6 Toho Hio /5
(c) 7 Toho o fuT
(d) I T DR A

25. AR HE gl qure =G R fHdm

qffer WA 5 9 F R [ A S B IR
R A1 R o i w9 12 o
# fF T A S R, @ qEne =S
T afifer <0 T T 3T 77

(@) 2%
(b) 3%

(c) 3% %

1

[P.T.O.
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26. Let ABC and A’B’C’ be two triangles

in which AB> A’B’, BC> B'C’ and
CA>C’A’. Let D, E and F be the mid-

points of the sides BC, CA and AB

respectively. Let D’, E’ and F’ be the
midpoints of the sides B’C’, C’A’ and
A’B’ respectively. Consider the following
statements :

Statement I :

AD> A’D’, BE > B’E’ and CF > C'F’
are always true.

Statement II :
AB? + BC?+ cA?
AD?+ BE? 4 cF2
A'B?+BC?+ A2
A'D'2+ B'E'2+ C'F'2

Which one of the following is correct in
respect of the above statements?

(a) Both Statement I and Statement II
are true and Statement II is the
correct explanation of Statement I

(b) Both Statement I and Statement II
are true but Statement Il is not the
correct explanation of Statement I

(c) Statement I is true but Statement II
is false

(d) Statement I is false but Statement II
is true

27. The annual incomes of two persons are

in the ratio 9 : 7 and their expenses are
in the ratio 4 : 3. If each of them saves
¥ 2,000 per year, what is the difference
in their annual incomes?

(@) € 4,000
(b) ¥ 4,500
(c) € 5,000
(d) € 5,500

B-ABPA-P-JRW/54A

28. Let S be a set of first fourteen natural

numbers. The possible number of pairs
(a, b), where a, be S and a#b such

that ab leaves remainder 1 when
divided by 15, is

(a) 3
(b) 5
(c) 6

(d) None of the above

29. A clock strikes once at 1 o’clock, twice at

2 o’clock and thrice at 3 o’clock, and
so on. If it takes 8 seconds to strike at
5 o’clock, the time taken by it to strike
at 10 o’clock is

(a) 14 seconds
(b) 16 seconds
(¢} 18 seconds

(d) None of the above

30. In a circle of radius 2 units, a diameter

AB intersects a chord of length 2 units
perpendicularly at P. If AP > BP, then
AP is equal to

fa) (2++/5) units
(b) (2++3) units
c) (2++/2) units

(d) 3 units

www.examrace.com



26. TH i ABC 3R A’B'C’ 3t gt &, s

AB> A’B’, BC> B'C’ 3R CA>C'A’ %
uH <fifte D, E 3R F A S8t BC, CA
¥R AB % wen-fog 1| 7m @i DY, E7 3R
F’ &A: &3 B'C, C'A’ 3R A'B' %
7er-fag ¥ | Frafafea oMl w fer i
EUCINE

AD> A'D’, BE>B'E’ 3R CF>CF’
THI 6 B

SYq 11 :
AB2+ BC?+CA?
AD2+ BE2+ CF?

_A'B2+BC?+CA?
A'D'2+ BE'?+ C'F?

39wl & fog frefafad § @ $F-w o
el &7

(@ HF 1 3R FE 11 IH I ©
FA 11, FuA 1 6 T8 =qre B

(b) HF 1 X FUH I S T § Wl
oM 11, HuA 1 % Fel oA T8 2

(c) 1T B AR FIA 11 39 ¢

(d) U 1 3THA & AR hor 11 ¥ed 2

27. 3 ARRE H s ™ 9:7 F AW F B

3R ITF T 4 : 3 F g A | AR T A

eI =afE € 2,000 W 99 a9 R, @ T

IR T F = ST BY
(@ & 4,000
(b) ¥ 4,500
(c) ¥ 5,000
(d) ¥ 5,500

B-ABPA-P-JRW/54A

28. Hﬂ?ﬁﬁq Sqﬂéﬂ\ﬁmtgﬁzﬁiﬁ%ugaa

21 Tl (a, b) F GwlE @@ w0 R, &
a, be SHR a»b M IFX % ab 1 159
fomfira = T ATFA 1 & &7

(a) 3
() 5
© 6

(d) ST | A I &

29. T ULl 1 o | TH o) il §, 2 F94 W

TR S B, 3 9O T I o) St & o 35
% 0 el WA R AR 5 99 qw a9 A
8 Uhe ol B, & 10 9 3W woW H TR
g A 87
(@) 14 ¥HS
(b) 16 AFe
(c) 18 UHs

(d) 3w T T HE T

30. 2 3K o9 9wt ©F 99 ¥ W AB, 2 R

et Sfian ®l P R ITgEe ioesfed w2
Ife AP > BP, dl AP frgs sUsR 87

(@) (2+/5)THE
(b) (2+/3) ¥
(c) (2+2) TS
(d) 3 FhiE

[P.T.O.
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31. Under what condition on p and g, one of 34. Consider the following statements :

the roots of the equation x2+ px+qg=0 1. Every natural number is a real
is the square of the other? number.
fa) 1+q+q?=3pg 2. Every real number is a rational

number.
9 3. Every integer is a real number.
(b) 1+ p+ p“ =3pg , .
4. Every rational number is a real

" o number.
fc) p°+q+q° =3
- Which of the above statements are

correct?
(@) 1, 2 and 3
(b) 1, 3 and 4

(d) q*+p+p? =3pg

32. What is the maximum value of m, if
the number N =90x42x324 x55 is (¢ 2 and 3 only

R m
divisible by 3™? (d) 3 and 4 only

o} & 35. For what value of k is (x + 1) a factor of
(b) 7 x3+kx?-x+2?

(c) 6 (@l . 4

(d 5 (b) 3

33. A bike consumes 20 mL of petrol per fe) 1
kilometre, if it is driven at a speed in the (d) -2
range of 25-50 km/hour and consumes
40 mL of petrol per kilometre at any

: 36. Consider the following statements :
other speed. How much petrol is

consumed by the bike in travelling a 1. There exists a positive r::ial number
distance of 50 km, if the bike is driven m such that cosx =2""".
at a speed of 40 km/hour for the 2. mn2=m+n for all m, n belonging to
first 10 km, at a speed of 60 km/hour set of natural numbers.
for the next 30 km and at a speed of _ .
30 km/hour for the last 10 km? Which of the above statements is/are
correct?
(@@ 1L
(a) 1 only
i e (b) 2 only
(g 14 L (c) Both 1 and 2
({d 16L (d) Neither 1 nor 2
B-ABPA-P-JRW/54A 10
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31. @FW x2+ px+q=0%F T & F W qd 34. fr=fafad Hu w fo=m Hifg :

=1 71 21 & Ty p 3R g Form foey % sl 1. We% Y qUITh U dArdae Sedl gl e
®? 0. e arefie GE T ueE T A
(@ 1+q+q*=3pg #

3. Ik i T ardfes g At €|

(b) 1+p+p?=3 _ _
P 4, TIE GTOE G U I Gl Bl

() p*+q+q*=3pgq 2
([d) q°+p+p?=3pq ST A § ¥ FH-Y HE 7
(@ 1,233
32. ARk TN N=90x42x324x55 3™ ¥ (b) 1,334
?
fawrsa B, @ m 1 Afieran 9 F=0 87 -
(@) 8 (d) Fa 3 34
(b) 7
© 6 35. k& forg 70 & T (x+1), x3+kx?-x+2
e a?
@ 5 %1 T PGS B
(@) 4
33. TF HEWERd ® 25-50 fRo Ho/¥er % (b) 3
i # TRl =1 | e S W 20 o féfo ) 1
A e freifi it @va B ¥ o e @ 2

9 = ¥ T S R 40 e e W
iy freirfix it @ua St 21 i At

qEd 10 Fo Ho § 40 Fo Ho /g2 1 = 36. Trafafis sl w fomm Hifs

¥, 3@ 30 Fro o F 60 fFo Ho/dar H 1. U YAcH drdias 961 m & A&

=11 ¥ ofR @ifm 10 o o F 30 foho o/ T TR & FF cosx =2m*! R)

w21 U ¥ IEE S g, @ A 2. mn>m+n, & @ m, n U PHE F

mso%orﬁo‘ﬁgﬁmmﬁﬁﬁﬁﬁﬁ;ﬁa qa’a’q%;m%;

6 ?

i ke ol A B A

fa) 1T (@) HFA 1

(b) 12 fae (b) ¥ 2

(c) 14 fa0 (¢ 1323

(d) 16 fdo (d @ 1MIAE 2
B-ABPA-P-JRW/54A 11 [P.T.O.
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37. The solution of the inequation

lpkod. 5 b

X x2

is (given that x # 0)

(@ x>0
(b) x<0O
(c) _1_J§st_1+‘[§
2 2
(d) xs_l_\/gorxz_l-h/g

2 2

38. Which of the points P(5, —1), Q(3, —-2)

and R(1, 1) lie in the solution of the
system of inequations x+y<4 and
x-y=2?

(@) Q and R only
(b) P and R only
{c) P and Q only

41. Consider the following in respect of

natural numbers a, b and ¢ :

1. LCM{(ab, ac)=a LCM|(b, c)
2. HCF(ab, ac) =a HCF(b, c)
3. HCF(a, b)<LCM(a, b)

4. HCF(aq, b) divides LCM (a, b).

Which of the above are correct?

fa) 1 and 2 only
(b) 3 and 4 only
fc) 1, 2 and 4 only

(@ 1,2, 3 and 4

42. There are three brothers. The sums of

ages of two of them at a time are
4 years, 6 years and 8 years. The age
difference between the eldest and the
youngest is

(d) P, Qand R (@) 3 years
39. A passenger train takes 1 hour less for (b) 4 years

a journey of 120 km, if its speed is

increased by 10 km/hour from its usual (c) S years

speed. What is its usual speed? (d) 6 years

(a) 50 km/hour
(b) 40 km/hour
{c) 35 km/hour
(d) 30 km/hour

43. A person goes to a market between
4 p.m. and 5 p.m. When he comes back,
he finds that the hour hand and
the minute hand of the clock have
interchanged their positions. For how
much time (approximately) was he out
of his house?

40. The value of k, for which the system
of equations 3x-ky-20=0 and

6x - 10y+40 = 0 has no solution, is )
(a) 55-38 minutes

(a) 10

(b) 6 (b) 5548 minutes

(c) 5 (c) 55-57 minutes

(@) 3 (d) 55-67 minutes
B-ABPA-P-JRW/54A 12
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37. @i 1+1_L22075[gaw%? (R 41, @ a, b 3R ¢ ¥ fou Fafafea w f=n

X x Fifsg :
T v O 1. LCM(ab, ac)=aLCM(b, c)
6 el 2. HCF(ab, ac) = aHCF(b, c)
(b) X:OJE Ny 3. HCF(q b)<LCM(a, b)
i — st_; 4. HCF(a b), LCM(a, b) ® fasifera
T B
(d) i dol8 gy gine P18
2 2 R O ek
3s. figait P(s, -1), Q(3, -2) 3 R(1, 1) § (a) a1 2
¥ -9 fag swfen fwm x+y<4 3R (b) Faa 3 ¥R 4
x—y>2% 7@ & g &7 o ey, s
(@) ¥a@ Q3R R ’am
(b) HIA P IR R @ 1% 58S
() ¥ PR Q az. @ %) Ped T T S A A B 9 A
(d) P, Q¥R Tee 4 a8, 6 9§ o 8 A B g =2 SN
T DI Y 1Y 1 AR F1 87
39. & I W@l 120 o Hio 7w % fow 1 g o
=0 gug od 2, R TR e g = @ (@ 3
10 fpo o /a1 oo Wt B THH WHHE (b) 4=
e R . (c) 574
(a) 50 fo o /Ha @ s

(b) 40 fo o fHeT

(c) 35 o o /5 43. T =R 9 4 T Y TE 5 T F A9 TR

(d) 30 Fho o /=1 SN B | S99 999 A R, A9 98 U @ TR
o ue Al g ofr fime fit gE R Rl
40. k # 98 #M, s fog ofwo fem g #§ aed T 2| 9% Fea ' (S)
3x-ky-20=0 3 6x-10y+40=0 H feTe =R & =Tt a@n?
?
wh T, (@) 55-38 fire
10
(= (b) 55-48 T
(b) 6
o 8 (c) 5557 fire
(d 3 (d) 5567 fae
B-ABPA-P-JRW/54A 13 [P.T.O.
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44. In a gathering of 100 people, 70 of them

can speak Hindi, 60 can speak English
and 30 can speak French. Further, 30
of them can speak both Hindi and
English, 20 can speak both Hindi and
French. If x is the number of people
who can speak both English and
French, then which one of the following
is correct? (Assume that everyone can
speak at least one of the three
languages.)

fa) 9<x<30

(b) 0<x<8

() x=9

[d x=8

45. A cloth merchant buys cloth from a

weaver and cheats him by using a scale
which is 10 cm longer than a normal
metre scale. He claims to sell cloth at
the cost price to his customers, but
while selling uses a scale which is
10 cm shorter than a normal metre
scale. What is his gain?

(@) 20%

(b) 21%

2
22-%
CL

1
d) 23=%
@ 285

B-ABPA-P-JRW/54A
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46. Two pipes A and B can fill a tank

in 60 minutes and 75 minutes
respectively. There is also an outlet C
If A, Band C are opened together, the
tank is full in 50 minutes. How much
time will be taken by C to empty the full
tank?

(a) 100 minutes
(b) 110 minutes
fc) 120 minutes

(d) 125 minutes

47. In a race of 1000 m, A beats Bby 100 m

or 10 seconds. If they start a race of
1000 m simultaneously from the same
point and if B gets injured after running
50 m less than half the race length and
due to which his speed gets halved, then
by how much time will A beat B?

{a) 65 seconds
(b) 60 seconds
(c) S50 seconds

(d) 45 seconds

48. The salary of a person is increased by

10% of his original salary. But he
received the same amount even after
increment. What is the percentage of his
salary he did not receive?

(a) 11%
(b) 10%
(c) (100 /11)%

(d) (90 /11)%
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44, 100 =Rl &1 TH TE 71 IW 4 70 ARk

T 9 ga §, 60 =ARh IS Sie dhd §
3k 30 =i H= S| T B TEH WY,
I} 30 =4 = 3 s 9 S wehd
2 q91 20 =3fF fe<t ok = F1 i ¥ B
Ife x 3 =afrdl 1 ge & W 3iish ok H
2 91 g &, q Frefafaa § @ R
w g 27 (AW <l fF uds =afe d
wrratt § ¥ FH-Y-F0 TH 9 S a1 2 1)

fa) 9<x<30
() 0£x<8
{c) x=9

[d) x=8

45. TF FIS 1 AN TR ¥ FHIST Gl & IR

G i A9 ¥ 10 Fo Hio Tl HGH Al
TN R GRSl ORET A R | 98 I ATEh
H A oA W FUST S H IE] F@ L,
AR =9 w9 g 7o &1 W= Ha @ 98
w Hi T @ 10 Fo Hio B B1 IHH
o R RT g

(@ 20%

(b) 21%

(c) 22?9-%

(d) 23%%

B-ABPA-P-JRW/54A

46. 3 7@ A 3R B Tt <hi = wEm: 60 fime

3t 75 fire § X wha 81w Frm C oft 71
At A, B 3R C Y Wi iy =g, @ <
50 firfe o swelt ®1 o@t I A C g Wil
F T Tora v @me?

(@ 100 fiFe
(b) 110 T
(c) 120 fime
(@) 125 fie

47. 1000 Hio Tl TH qS H A, B 100 Hlo Al

10 % ¥ &1 B AR A TH @ WA 4
1000 Ho 1 €5 THEATY IR Fd & IR IR
B3re il &aTE % 1Y ¥ 50 Ho FH 7 Qe
¥ Uy uEd B S g, e wRm sge
Il ot B W ®, A A, B R wma @
By

(a) 65 ¥HS
(b) 60 HFE
(c) 50 &S
(d) 45 ¥%e

48. TF ARE % I F qF 9 H 10% g WA

| Wi 37 9fg % a8 oft I/ ae A Iq
& Tl oW g W 3 A R e wiawa
Tfar yme e g8?

(@ 11%
(b) 10%
(c) (100/11)%

[d (90/11)%

[P.T.O.
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49. A truck moves along a circular path and

describes 100 m when it has traced out
36° at the centre. The radius of the
circle is equal to

@ Pm
Y

) 22 m
T

) 20m
T

@ 2 m
L

50. Two poles are placed at P and Q on either

side of a road such that the line joining
P and Qis perpendicular to the length of
the road. A person moves x metre away
from P parallel to the road and places
another pole at R. Then the person
moves further x metre in the same
direction and turns and moves a
distance y metre away from the road
perpendicularly, where he finds himself,
Q and R on the same line. The distance
between P and Q (i.e., the width of the
road) in metre is

(a) x

(b)

N | =

(¢ y

(d 2y

B-ABPA-P-JRW /54A
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S51. Suppose chords AB and CD of a circle

Af

Pl

intersect at a point P inside the circle.
Two right-angled triangles A’P’B’ and
C'Q’D’ are formed as shown in the
figures below such that A’P’= AP,
B'P'=BP, C'Q'=CP, D'Q’=DP and
ZA'P'B'=90°= £C’'Q’'D’ :

B Q; D’

Which of the following statements are
not correct?

1. A’P'B" and C’'Q’D’ are similar
triangles, but need not be
congruent.,

2. A’P'B’ and C’Q’D’ are congruent
triangles.

3. A’P'B’ and C’'Q’D’ are triangles of
same area.

4. A’P'B’ and C’'Q’D’ are triangles of
same perimeter.

Select the correct answer using the code
given below.

(a) 2 and 3 only

(b) 1 and 3 only

(c/ 1, 2 and 4 only

(d) 1,2, 3 and 4
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49. TF % U@ T W J@d §C PR W 36° 51. W WG T g9 I SE AB 3R CD 99
aTgfad 1 W 100 Ho & gh T Fa R IR fag P m vfese =t &1 q g

T it e fras saeR 27 Bys A’P'B’ IR C’'Q’'D’ R fiu f==i &
ITER W YHER Tdl & TR AP’ = AP,

100 B'P'=BP, C'Q'=CP, D'Q'=DP 3R
(@) = e ZA'P'B = 90°= £C'Q'D’ & :
AI
0 220 i B Q’L\D'
U
@ %% Frfeafad ®omt 3 § FF-8 9 7 87
4 1. A’P'B’ 3R C’Q’D’ uney fiy § wifer
AaTES el T wafran €|
50. © @ TH GgF & Ml (hA W P 3R Q W
36 WHR T SR R fR P st O #1 em 2. A’P'B’ 3R C'Q'D’ watman fiys B
aeft Y wew A SR W W A R 3. A'PB 3 CQD wAH &%E F
Atk HeFh & WA P ¥ x WX g Il o B
3R TF 3= @ R R T 8| IFH 918 a7
=i 3 R § x Hiw sgaR g8 o & ek 4. 4'P'B'WC'Q’D’WW%%&F
Fed ¥ Igdd y M N 70 7@ Far 3y d
/U@ F R, QMR AW W
g PR Q& du it g (vufq wew N
reré) wex i w0 £7 Ry T 2 M R @ I g
(@ x (@) Faa 2 3R 3
v (b) ¥ 1 3R 3
(€ y (c) a1, 2 3R 4
(@ 2y (@ 1,2, 334
B-ABPA-P-JRW/54A 17 [P.T.O.
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52. Suppose ABCis a triangle with AB of unit
length. D and E are the points lying on
AB and AC respectively such that BC
and DE are parallel. If the area of
triangle ABC is twice the area of triangle
ADE, then the length of AD is
(a)

l unit
2

(b)

l unit
3

fu—y

{c) — unit

)

1 d
— unit

(d) 7

53. A rhombus is formed by joining
midpoints of the sides of a rectangle in
the suitable order. If the area of the
rhombus is 2 square units, then the
area of the rectangle is
(@) 242 square units
(b) 4 square units

(c) 442 square units

(d) 8 square units

54. If each interior angle of a regular polygon
is 140°, then the number of vertices of
the polygon is equal to
fa) 10
(b) 9
(c) 8

(@ 7

B-ABPA-P-JRW/54A
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55. Let the triangles ABC and DEF be such
that ZABC = ZDEF, Z/ACB = /DFE and
£BAC = ZEDF. Let L be the midpoint of
BC and M be the midpoint of EF.
Consider the following statements :

Statement I :

Triangles ABL and DEM are similar.

Statement II :

Triangle ALC is congruent to triangle
DMF even if AC# DF.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement I and Statement II
are true and Statement II is the
correct explanation of Statement I

(b) Both Statement I and Statement II

are true but Statement Il is not the

correct explanation of Statement I

(c) Statement]I is true but Statement II
is false

Statement I is false but Statement II
is true

(d)

56. The number of rounds that a wheel
of diameter 7/11 metre will make in
traversing 4 km will be

(@) 500
(b) 1000
(c) 1700
(d) 2000
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52. AW i 76 ABC w& fwt ®, i AB #
e Uk TS ®1 D 3 E %HE: AB 3R AC
W 38 veR fi fagd 3 % BC 3R DE w9id
#1 9 By ABC w1 @=et, Biys ADE %
&A%Fe 1 4 A1 7, A AD I waTg 1 87

(@ Lo
(b) L
1
(c) — T

() -z

53. TF A e % AeA-faga # uF Ugw
w1 e UH qEEgys SR S 8 Ak
TGS 1 8% 2 T IS B, ° SAFd A
SRS T 87

(a) 22 =1 3FTS
(b) 4 TR
(c) 42 T TTg
(@) 8= 5FR
54. 3 TF GH GgYS H TAF HAHT 140° 7, @
gy % il 6 wE e wuer 77
(@ 10
(b) 9
(c) 8

@ 7

B-ABPA-P-JRW/54A

55. TH @ifg % GBS ABC iR By DEF w6
YFR € % ZABC= #/DEF, /ACB= /DFE
3R /BAC = ZEDF %\ WF divg, L, BC ®
ng-fag ® R M, EF w1 mw=a-fag R
Frafafaa wem w fo=m fifvg

SYq I :

st ABL 3R fys DEM "w&q 2|

Y II :

s ALC, s DMF & waimm &, @ ),
& AC # DF ®|

I FoAl & forg frefafaa & & sF-1 @&
we R?

(@) Ho 1 3 FeA 11 eF1 ¥ & 3R
FUA 11, o 1 F1 98 = B

(b) FHHH 1 W FF 11 SF1 TF & Al
o 11, o 1 h1 T =3 e ®

(c) FI1EA 2 Afch HUF 11 39 8

(d) FF 1 A ¢ WAl FUA [ 9ed 8

56. 7/11 T =@ % T& 9feY g0 4 fho o
T T A T G M T HFA
gft?

(@) 500
(b) 1000

(c) 1700

(d) 2000

[P.T.O.
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57. The base of an isosceles triangle is 61. A square is inscribed in a right-angled

300 units and each of its equal sides is triangle with legs p and g, and has a
170 units. Then the area of the triangle common right angle with the triangle.
is The diagonal of the square is given by
(@) 9600 square units (@) pq
(b) 10000 square units p+2q
(c) 12000 sgquare units
) P9

(d) None of the above 2p+q

58. Four equal discs are placed such that 2pq
each one touches two others. If the area (c) g
of empty space enclosed by them is i
150/847 square centimetre, then the 9
radius of each disc is equal to (d) ZE

ptgq
fa) 7/6 cm
b) 5/6 cm
S 62. If X~ Ytan6=1and Ztan6+¥ =1, then
(c) 1/2 cm a b , 261 b
(d 5/11 cm the value of =+ is
_ a2  §2

59. ABCand DEF are similar triangles. If the 9 5
ratic of side AB to side DE is ] 2mee™H R e
(V2 +1): /3, then the ratio of area of 2 2
triangle ABC to that of triangle DEF is fc) cos®8 (d) 2cos”®
(@ (3-242):3

63. Consider the following :

(b) (9-642):2

€ 1:(9-6v2) 1. f:%g:cosece—cote

(d) (3+242):2

1+cos®
. 2. ——— =cosecH +cotb
60. A tangent is drawn from an external 1-cosb
point O to a circle of radius 3 units at ' _ .
P such that OP =4 units. If C is the Which of the above is/are identity/
centre of the circle, then the sine of the identities?
angle COP is
a) 1 onl
@ 4/5 (@) y
(b) 3/4 (b) 2 only
) 3/5 (c) Both 1 and 2
(d 1/2 (d) Neither 1 nor 2
B-ABPA-P-JRW/54A 20
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57. Tt wafeag B # smur 300 w=E R 61. p 3R g Yol I TH wEEY B o w

Wh A el § @ yde H e sa:ar dien s g1 Pigs 1 wwenn, a1 @
170 7§ ¥ 1 Bisgst 1 Srher = 27 goar oft ¥ 9 o1 ferepol s e R7
(@) 9600 T $HTE -
(b) 10000 a7 SHTE (o p+2q
c) 12000 a1 THR .
(@) 3 % 2 T % Bpea
58. IR GHM Sl ®1 36 YHR @ Wal § % ) V2pq
T Ifshnt Q) 3 Ifshnredl B woel et B) ptq
afe I g ufEg R R w0 Seed ‘2pq
150/847 =1 Ho Mo B, A Wi dfshehr hl (d) Py
Forsan formes e 27
(a) 7/6 @o Ho
x_Y - x y_
(b) 5/6Q°Iﬁ° 62-?4%; btanﬁ laﬁtatan9+b 1%,?1}1
() 172 ¥ o X2 Y a7
(d) 5/11 Fo o a® b
59. ABC ¥R DEF waey Biys %1 9 g1 AB (@) 2sec®® (b) sec?®
SR Y1 DE F IgIE (V2 +1): 43 &, W 24 5 Eene®
3y ABC % &5wa &1 iyl DEF % &a%a e, B (&, s
T H1 I 7
(@ (3-242):3 63. Frafafas w fmr $ifsw .
(b) (9-6v2):2 1. 1_cosezcosec9—cot9
(c) 1:(9-6v2) 1+cos@
@ (3+22): 2 2. i+czsg=cosec9+cot9
—COSs

60. 3 3 ! Bew F w99 % fig P T )
fig 0 ¥ Tk wi-t@ w YR = S R Tt § A B -d el /adate 2 /87
froP=4a@EMEmm I CY, D

F COP F1 sine 1 37 () ¥ 1

(@) 4/5 (b) Had 2

(b) 3/4 (c) 1R 23H

(c) 3/5

d 1/2 (d) qAq1IATE2
B-ABPA-P-JRW/54A 21 [P.T.O.
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64. If p=cotb+tan® and g=secBb-cosb,

then (pzq)g —(qu)g is equal to
(@ O
(b) 1
(c) 2
(@ 3

65. Two observers are stationed due north of

66.

a tower (of height x metre) at a distance
y metre from each other. The angles of
elevation of the tower observed by them
are 30° and 45° respectively. Then x [y
is equal to

(a} 1/_‘_2—_1'

2
J3-1

b ——

&

+1
2

(@ 1

(c)

If

cos? 0 - 3cosb+2 -1

sin? @

where O<G<g, then which of the

following statements is/are correct?

1. There are two values of 6 satisfying
the above equation.

2. 06=060" is satisfied by the above
equation.

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

{c) Both 1 and 2
(d) Neither 1 nor 2

B-ABPA-P-JRW/54A

22

67.

68.

69.

In a triangle ABCif A- B= g then C+2B
is equal to

(@ 2

(b) —

(c) n

m

(d)

Which of the following is correct
in respect of the equation

3-tan?0=o0/(1-3tan? 6)? (Given that
o is a real number.)

(a) ae[%, 3}

(b) OEE(-—w, }u[3, o)

b
3
(c) oze(-oo, é)U[S, oo)

{d) None of the above

There are five lines in a plane, no two

of which are parallel. The maximum
number of points in which they can
intersect is

(a) 4
(b) 6
(c) 10

(d) None of the above

www.examrace.com
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64. 3 p =cotb+tan® 3R q = secB —cosb %,
N (p2g)3 - (g2p)3 P w27

(@) O
() 1
(c) 2
(@ 3

65. 3 3§F TH TR (x HeX =) & I I 8
TH-g ¥ y WX i g | e[ &1 37 a9
R Y AR % I w0 wEm: 30° @R
45° %1 @ x / y Tores A= 37

@ ~——

(b) ——

cos?6-3cosB+2 _

sin? 0
Gra%0<9<g%,a°fﬁ1=d%1ﬁaﬁwﬁﬁé

FH-T1/8 w7

1. 394w Wil l FgE i ard, 6 % o
M 2

2. 6 =60° I9YH THIFT A HIE B
e fw g e w1 W@ wad I gh
(@) Had 1

(b) FId 2

c) 1R 23H

(d) Td1IRAE2

1

B-ABPA-P-JRW/54A 23

67. T B ABC # 3R A—B:g%, & C+2B

Torges wU=R 27

2n
(a) —é—

3n
(b) T

(c) m

Y
@ =

68, e A ¥ wwew,  whew

3-tan?0=0(1-3tan?6) & IR H TE
27 (fen mn & Ff o v awfass @em 21)

(a) 0€E|:%, 3}
(b) ae(—m, %:|U[3, o)

(c) ue(—oo, %]U[:‘}, oo)

(d) I § q B T

69. T% GHad § gig @t g, e @ S i @

AR T &1 3 fogadi 1, fom w3 wfo=ss
R HFA ¢, Aferan gE = 27

(a) 4
(b) 6
) 10

(d) 39 | ¥ I T

[P.T. O.
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70. Consider a circle with centre at O and

radius 7 cm. Let QR be a chord of length

2 cm and let P be the midpoint of QR.

Let CD be another chord of this circle

passing through P such that ZCPQ

is acute. If M is the midpoint of CD

and MP =424 cm, then which of the

following statements are correct?

1. ZQPD =135

2. IfCP=mcmand PD=ncm, thenm
and n are the roots of the quadratic
equation x2-10x+1=0.

3. The ratio of the area of triangle OPR
to the area of triangle OMP is 1: 242.

Select the correct answer using the code

given below.

{(a) 1 and 2 only
(b) 2 and 3 only
{c) 1 and 3 only
({d 1, 2 and 3

71. Let ABC be a triangle in which AB = AC.

Let L be the locus of points X inside or
on the triangle such that BX = CX.
Which of the following statements are
correct?

1. L is a straight line passing through
A and in-centre of triangle ABC is
on L.

2. L is a straight line passing through
A and orthocentre of triangle ABC
is a point on L.

3. L is a straight line passing through
A and centroid of triangle ABCis a
point on L.

Select the correct answer using the code

given below.

fa) 1 and 2 only

(b) 2 and 3 only

() 1 and 3 only

(d 1,2 and 3

B-ABPA-P-JRW/54A
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72.

Consider a circle with centre at C. Let OP,
OQ denote respectively the tangents
to the circle drawn from a point O
outside the circle. Let R be a point on OP
and S be a point on OQ such that
ORxSQ=0SxRP. Which of the
following statements is/are correct?

1. If X is the circle with centre at O
and radius OR, and Y is the circle
with centre at O and radius OS,
then X =Y,

2. ZPOC+ £QCO =90

Select the correct answer using the code
given below.

(a)

(b) 2 only

1 only

(c) Both 1 and 2

(d) Neither 1 nor 2

73. If m and n are distinct natural numbers,

then which of the following
integer/integers?

is/are

m n
1. —+—
n m

2. mn[m+£
m

Select the correct answer using the code
given below.

(@) 1 and 2
(b) 2 only
fcg 2 and 3

(d) 3 only
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70. ¥ O 3R 7 Yo Ho B % & 99 W f=R

HY) 79 T OR, 2 Fo Ho Tt T

Sften & 3R wH e P, QR @1 7eA-fig ®)

qH efifsie cD g ga@ A, P ¥ TR

qrell, TH F WA W YRR & R ~CPO

EHW R AR M, cD w1 ww-fag ? e

MP = 24 @o o 3, @ Frafafaa wemi &

¥ FH-9 T 27

1. ZQPD=135°

2. G CP = m o Ho 3R PD = n¥o o
5&", @ m 3R n %Eﬂﬁ Epsicau|
x2-10x+1=0% 7& &I

3. B< OPR % &a%a %1 fiys oMP &
el § AU 1: 242 B

=1 few T e w1 W W Ad W g
(a) Fad 1 3R 2
(b) A 2 AN 3
(c) et 1 3 3
(d 1,233

71. 7R dit ABC & e &, f’md AB= AC

B 7 hfsr fogadt x 1, < 76 Brge % e

71 Brs 9 39 YR § 6 BX = X 3, fegoy

L 7| frfafaa ot # & *9-9 w9 87

1. L, A9 TS 9l TF Wa W@ g e
B ABC %1 iadg L W B

2. L, A¥ A 9l TF WA W@ g iR
s ABC &1 e L W U fog R

3. L, A9 TS 91l T W @ g 3
B ABC %1 %5% L R 0% fog |

= fog 7 e 1 T R IR ghw)
(a) HaA 1 3R 2

(b) Haa 2 3R 3

(c) Haa 1 3R 3

(d 1,2 3R 3

B-ABPA-P-JRW /54A
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72. ¥E C 90 Tk g9 W R Ffw| 7w <fif

OP, OQ % I: 99 & @@ g 0 ¥ 99 W
i< T i@ g1 "E i R, OP W
T foag SR S, 00 W T fog 36 yHR & T
OR x SQ = OSx RP % | fi=fafad weqt §# &
FH-91/8 T /R

1. 3R X, %% O 3R Br=a OR 1 99 ® A
Y, 3 0 3 B=n os w 3@ %, @
X=Y2l

2. ZPOC+ £QCO = 90°

= T T e 1 WM W wd IR g
(a) Had 1

(b) HaA 2

(c) 1 3R 23H

(d A1 AMTE 2

73. Ik m W n @ W iF §, @ F=fafea &

Y HH-91/8 i 7 /77

1.

3.

= fow e 52 w1 v = Ed s i
(@) 1312

(b) a2

fc) 23R3

(d) ¥4 3

[P.T. O.
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74. Outside a meeting room, Madhukar was

told by a person that each meeting
takes place after 13/4 hours. The last
meeting has been over just 45 minutes
ago and the next meeting will take place
at 2 p.m. At what time did Madhukar
receive this information?

(@) 10:20 a.m.

(b) 11:30 a.m.

{fc) 11:40 a.m.

(d) 11:50 a.m.

75. The expenditure of a household for a

certain month is & 20,000, out of which
¥ 8,000 is spent on education, ¥ 5,900
on food, ¥ 2,800 on shopping and the
rest on personal care. What percentage
of expenditure is spent on personal
care?

(@ 12%
(b) 16:5%
(c) 18%
(d) 21-8%

B-ABPA-P-JRW/54A
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76. If

where x, y and z are natural numbers,
then what is z equal to?

(@ 1 (b) 2
(¢) 3 d 4

77. A circular path is made from two

concentric circular rings in such a way
that the smaller ring when allowed to
roll over the circumference of the bigger
ring, it takes three full revolutions.
If the area of the pathway is equal to
n times the area of the smaller ring, then
n is equal to

(@) 4
) 8

(b) 6
(d 10

78. Consider the following statements :

1. If n=23 and m=3 are distinct
positive integers, then the sum of
the exterior angles of a regular
polygon of m sides is different from
the sum of the exterior angles of a
regular polygon of n sides.

2. Let m, n be integers such that
m>nz=3. Then the sum of the
interior angles of a regular polygon
of m sides is greater than the
sum of the interior angles of a
regular polygon of n sides, and their

. n
sum is (m+n)§.

Which of the above statements is/are
correct? '

(a) 1 only

(b) 2 only

fc) Both 1 and 2
(d) Neither 1 nor 2
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74. |9 F& 5 AR TH ARk 1 YH B Tad] T
TUF 93F 13/4 Hel % W6 Bl gl frwed
%% 9 45 T Tea @ wAw g ® ein
el doF AT 2 F9 TN qYH F T
=1 fore T W g5 7

(a) 10:20 @i

(b) 11:30 G@ig

(c) 11:40 @&

(d 11:50 @5

75. TH = Forelt e e =61 =19 # 20,000 &,
e & fism | € 8,000, @A W 5,900,
el W ¥ 2,800 IR Y FRETG T@HE T
F g B A = H fRam wiowd =
R T@HTE TG 87

(a) 12%

(b) 16-5%

() 18%

(d 21-8%
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76.

SRl x, y 3R z 49 Uit 2, 91 z foress s
??

(@ 1 (b) 2

fc) 3 d 4

77. T I 99 ) HhA I Sl A 9 TR S

t fF 9 OR T = W@ T i MY W
YA ST R, @ 98 R A 9ReE we B
gfe AU w1 &R, B IO F AFhe H
nTA R, @ n o =R 27

(a 4 (b) 6
c) 8 (d 10

78. Trafdfga Heri w fomm Fifse

1. AR n>3 3R m> 3 fim oA Qs
g @ m ST 99 TH W RS %
eI 1 ATRA, o YT A TH
T AgYS % el F dved @ fe
B

2. HH W m, n % 3@ TR § R
m>n>3. @ m YA a9 TH EH
SIS AN H AR, n YA
I T TH FgS  AAHT H IR
@ﬁ%%ﬁﬂmtﬁnwmm)g

Bl

IFE FUA H A BE-A1/8 G 2/E?
(a) Fae 1

(b) Had 2

c) 1 3R 2<H

(d) T 1IARAE2

[P.T. O.
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79. Consider the following statements :

1. There exists a regular polygon
whose exterior angle is 70°.

2. Let n= 5. Then the exterior angle
of any regular polygon of n sides
is acute.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

80. In a triangle PQR, point X is on PQ

and point Y is on PR such
that XP=1-5 units, XQ =6 units,
PY =2 units and YR = 8 units. Which
of the following are correct?

1. QR=5XY
2. QR is parallel to XY.

3. Triangle PYX is similar to triangle
PROQ.

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 2 and 3 only
c) 1 and 3 only
(d) 1, 2 and 3

81. If a transversal intersects four parallel

straight lines, then the number of
distinct values of the angles formed will
be :

(a)
(b)) 4
(c)
(d 16

B-ABPA-P-JRW /54A
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82. A person travels 7 km eastwards and

then turns right and travels 3 km and
further turns right and travels 13 km.
What is the shortest distance of the
present position of the person from his
starting point?

(a) 6 km

(b) 345 km

(c) 7 km

(d) 445 km

83. ABC is a triangle in which D is the

84.

midpoint of BC and E is the midpoint

of AD. Which of the following statements

is/are correct?

1. The area of triangle ABC is equal to
four times the area of triangle BED.

2. The area of triangle ADC is twice
the area of triangle BED.

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

ﬁ'ln’/

A circle of 3 m radius is divided into
three areas by semicircles of radii 1 m
and 2 m as shown in the figure above.

- The ratio of the three areas A, Band C

will be
(@) 2:3:2 (b) 1:1:1
(c) 4:3:4 (d 1:2:1
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79. Fr=fafaa Fubi © f=m fifvw .

1. U TH 9gys %, fme sfesm 70° g,
Hfere 2|

2. WA AR n> 57 d R et
el § A 1 FfEshI = R

30 FoAl W FH-T1/H wE B/RT
(a) %4 1

(b) A 2

(c) 13 23H

(d) @1 A2

go. Tl fiqs POR # fig X, PQ W IR fag

Y, PR 30 J#R & % xP=1.5 =L,
XQ =6 3R, PY =2 SIS 941 YR = 8 TH1E
B | Frafafea & 9 9R-3 9@ ¥7

1. QR=5XY

2. QR, XY % WA |

3. Biyw Pyx, fn[= PRO % wH®d R
= fow e g2 = wEm w3 g
() Faa 1 3R 2

(b) Faw 2 3R 3

(c) Faa 133

(d 1,233

81. It & fods Y@ WR Wi W @i W@

wfosdeT #edt B, @ 3@ THK 59 w7 F R
AT = w4 B

fa) 2
(b) 4
(c) 8
(d) 16
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82. Th Ffh @ Hi R 7 o o = B, T

a1 qgd1 @ a9 3 T o wewn B, iR fiw
ot ged ® w6 13 fho o T 31 36 =fE
% URfe fig & 0 adum il i =
T TRt 27

(a) 6 fFo o

(b) 35 o Hio

(c) 7 Two o

(d) 45 fo o

83. ABC % faqe ®, fvil D, BC #1 wea-fig %

84.

3N E, AD %1 aea-fig R Frefeiaa st o

¥ HE-T1/3 9 7/87

1. Bs ABC =1 &9%d, figs BED %
%S 1 IR AT B

2. TS ADC #1 &w%a, Biys BED %
&AFE 61 QT R

= o T e 1 W R wd Iw gh
(a) Fad 1

(b) Fad 2

(c) 1 3R 2 <M

(@ @ 1dARTE 2

S| fh S eifha o § emfan w0 R, 3 o
e & wh a0 1 o @it 2 o e F
el A d &t 7 el e mn ) 6
&1 A, B 3R C %1 erqura =41 dm?

(a) 2:3:2 () 1:1:1

(c) 4:3:4 (d) 1:2:1

[P.T.O.
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85. If F=l9_\/§ and x-y= 8, then the 87.
y 3 x

value of xy is equal to

(a) 36
(b) 24
(c) 16
In the figure given above, AD = CD = BC.
(d) 9 What is the value of ZCDB?
86. A () 32°
(b) 64°
(c) 78°
F (d) Cannot be determined due to
insufficient data
]
B Q c 88. ABC is an equilateral triangle and X, Y
and Z are the points on BC, CA and AB
ABC is a triangle right angled at C as respectively such that BX =CY = AZ.
shown in the figure above. Which one Which of the followmg iS/al'C correct?
s -
Gl i fellowingis eorreas: 1. XYZ is an equilateral triangle.
2. Triangle XYZ is similar to triangle
(@) AQ2+AB? = BP2?+ PQ? ABC. x
Select the correct answer using the code
given below.
(b) AQ?+PQ? = AB?+ BP?
(@) 1 only
(c) AQ2+BP2 = AB?+ PQ> (b) 2 only
() Both 1 and 2
(d) AQ?+AP? = BK?+KQ? (d) Neither 1 nor 2
B-ABPA-P-JRW/54A 30
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85. ﬁJE:E_P IR x-y=8%, M xyH
y 3 x
A TR SR 27
(@) 36
(b) 24
(c) 16
(d 9
86. A
P
.
B Q c
ABC & Taye R, @ C wwmr ®, S £
IR Hfepa o7 7 qwiien 7o ¥ F=fafaa 4 @
HH-H1 Th HE 87
(@) AQ?*+AB? = BP?+ PQ?
(b) AQ?+PQ? = AB?+ BP?
(c) AQ?+ BP? = AB?+ pQ?
(d) AQ?+AP? = BK?+ KQ2
B-ABPA-P-JRW/54A 31

87.

96°

A } D B

IR Afka @ § AD=CD = BC ® ~CDB
1 A 41 87

(@ 32°
(b) 64°
(c) 78°

(d) F9ETE Jiwel & wru fuifa 7@
Bl

88. ABC Uk qHag Pigsi ¢ 3R fogd X, Y wd 2

%A BC, CA @91 AB W 39 W&R & &%
BX = CY = AZ % T=feflad & & #1-w1/%
e B /27

1. XYZ U wHa1g B )
2. TS Xvz, Bigst ABC % w969 R

1= fau T e 1 wE = wE IW ghu
(@) +ad 1

(b) FE2

(c) 1 3R 22N

(d @ 1RTE 2
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89. 91. The election result in which six parties

contested was depicted by a pie chart.
Party A had an angle 135° on this pie
chart. If it secured 21960 votes, how

A
v
©

80°

100° many valid votes in total were cast?
< >q
(a) 51240
i {b) 58560
In the figure given above, p and g are
parallel lines. What are the values of the (c) 78320
angles x, y and z? (d) 87840

92. The mean and median of 5 observations
are 9 and 8 respectively. If 1 is
subtracted from each observation, then

(@ x=80°, y=40°, z=100°

(b) x=80°, y=50, =z=105 the new mean and the new median
will respectively be

fc) x=70°, y=40°, z=110° (@ 8 and 7
(b) 9 and 7

(d x=60, y=20, =z=120° (¢ 8 and 9

(d) Cannot be determined due to
insufficient data

90. 93. The age distribution of 40 children is as
follows :
Age (in years) | 56 | 6-7 | 7-8 | 89 |9-10|10-11
2x+6y=21 No. of children | 4 7 9 12 6 2
Consider the following statements in
o respect of the above frequency
0| 1 v2 3 4 distribution :
1. The median of the age distribution
The linear inequations, for which the is 7 years.
shaded area in the figure given above is 2. 70% of the children are in the age
the solution set, are group 6-9 years.
3. The modal age of the children is
(@) 2x+6y<21, 5x-2y<10 8 years.
Which of the above statements are
(b) 2x+6y=<21, ;9x-2yz=10 correct?
(@) 1 and 2 only
(c) 2x+6y=21, 5S5x-2y<10 (b) 2 and 3 only
: () 1 and 3 only
(d 2x+6y=21, 5x-2y=10 (d 1,2 and 3
B-ABPA-P-JRW/54A 32
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89.

A

.
<

o s R & p iR g W Yart ¥ 2
X, y ¥R z % g 71 87

(a) x=80°, y=40°, z=100°
(b) x=80° y=50°, z=105°
€ x=70°, y=40, z=110°

(d) x=60° y=20° z=120°

90.

v

0|1¢234

9 Wk srafiard, s e & wg=m o1fe
& g FW 2Afeha Tt # gwfan man 2, ¥

fa) 2x+6y<21, 5x-2y<10
(b) 2x+6y<21, 5x-2y=>10
fc) 2x+6y=21 5x-2y=<10

(d 2x+6y=221 5x-2y=>10

B-ABPA-P-JRW/54A

91. T Y& I, s o7 gt ¥ wm foa, witomm
ARG (5 1) T T T 39 gORE §
A A 1 ®I0 135° 97| I 3@ 21960 Hd
i1, @ Fat foham 39 wa 510 T A?

(@) 51240
(b) 58560
(c) 78320
(d) 87840

92. 5 D&t ¥ e i W FHW: 0 R 8 ¥
afe w& N0 | 1 ge™ WY, @ T4 A
3R 7 AifedeR €, s

(@) 8 AR 7
(b) 937
c) 83MO9

(d) Augte Afhsl & wrRu Fuifa 78 fre =0
Hhd

93. 40 w1 % Y 1 FeA Frferfa ©

37g (awi ) 56 | 6-7 | 7-8 | 89 |9-10|10-11

=l & d&T 4 7 9 12 6 2

Ik IRERal ded & 9N F Frefafa e
R fo=mR Sifse :

1. 7Y e i ey 7 af §)
2. 70% = 6-9 9 ¥ g @i A §)
3. =4l %I 9gers g 8 =Y R
394 HA § ¥ PH-Y 9 7

(a) Had 173K 2

(b) Haw 2 3R 3

c) Hae 1 3R 3

(d 1,2 3R3

[P.T.O.
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94. Suppose x; = A for0<i <10, where A > 1. 98. The value of the expression

Which one of the following is correct? (243 + 647)2 + (243 -|647)?
fa) AM < Median 243 x243 + 647 x 647
(b) GM < Median is equal to

; (@ O (b) 1
() GM = Median © 2 @

{d) AM = Median .
99. If a and b are negative real numbers and

¢ is a positive real number, then which
of the following is/are carrect?

Which one of the following is not 1. a-b<a-c
correct?

95. Suppose Xx; =—1. for i=1, 2, 3,.; 11
i

2. Ifa<b, thenE<P-.

(@) AM >1/6 e ¢
3 =, < s
(b) GM>1/6 e
(¢ HM>1/6 Select the correct answer using the code
{d) Median = HM given below.
(@ 1
96. The value of (b) 2 only
Llog,o 3125 - 41og; 2 +1og; 32 () 3 only
> (@) 2 and 3
8 100.
(@ O
(b) 1 A— C ; 5
(c) 2
(d) 3
97. If tan® +cotf = 4 . G0 < B _'.IE, — AD is tzhe diameter of a circle with art?a
J3 2 707 m“ and AB= BC=CD as shown in
sin6 +cosB is equal to the figure above. All |curves inside
the circle are semicircles with their
fal 1 diameters on AD. What |is the cost of
J3-1 levelling the shaded region at the rate of
(b) 5 ¥ 63 per square metre?
(@ & 29,700
(c) ‘/32” (b) € 22,400
(c) T 14,847
(d 2 (d) None of the above
B-ABPA-P-JRW/54A 34
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94. A Wi 0<i<10 % T x; = A! %, Sl 98, s

A > 18 Fefafiaa § 9 S9-w o w9 27 (243 + 647)2 + (243 - 647)2
@ AM < 243 %243 + 647 x 647
o 1 A frges st 27
(b) GM < HifEueH @ 0 w1
(c) GM = mifeye c) 2 (d) 3
(d) AM = Tfee 99, R q 3 b FTEF TR dEd ¥ R o
T YATcH dTEdiash O&dl €, dl fefoiad §
95. TH WG i=1, 2, 3,.., 11 % R x, =1 A F-9/8 W B/E
! l. a-b<a-c
2| Frafoafas & @ F9-a1 w v 78 27
o 2, ﬂﬁa<b,?ﬁg<é%]
() AM >1/6 Sl
1 1
(b) GM>1/6 -
fc) HM>1/6 e faw T g2 B TEI W wd I g
(d) TIfEeFR = HM (@ 1
(b) Had 2
1 Fad 3
96. gloglo 3125-4log 2 +log;p 32 F1 HH ;;)) 5 b
HI1 27
100.
(@) 0O
(b) 1
(c) 2
(d 3
97.'€Iﬁ'tan9+cot9=i %,STBTO<9<E,??[ @m%wﬁ%ﬁﬁﬁaﬁmw%,/w@
V3 2 I H M B, I4 1 SA6a 707 a1 Ho B
SiHB-%CDSG%Ha'?W%? 3N AR = BC =D %| ’qﬁ% I gt 9%
@ 1 g 8, s =@ AD W 8| 63 ufd o
e e & R A BIRG &7 F U HH H A
(b) 2* T 87
(a) & 29,700
g YL (b) € 22,400
2 (€ ¥ 14,847
(d) 2 (d) ITYH F A IS T
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R oft 38w F forg SgwgEr € S ae w1 wve R smem)
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Note : English version of the instructions is printed on the front cover of this Booklet.
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